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BECE-002 : INDIAN ECONOMIC DEVELOPMENT : 
ISSUES AND PERSPECTIVES 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer all the sections as per directions given in each 
section. 

SECTION - A 
(Long Answer questions) 

Answer any two questions from this section in 
about 500 words each. 	 2x20=40 

1. How far growing population is slowing down 
India's Economic Development ? What 
population policy would you suggest to solve the 
problem of population in India? 

2. What are the causes of low productivity in Indian 
Agriculture ? What measures would you suggest 
to raise it ? 

3. Bring out the main changes in the composition of 
India's foreign trade since 1951. Do they reflect 
structural changes in the economy ? 

4. Discuss merits and demerits of globalisation. 
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SECTION - B 

(Medium Answer questions) 

Answer any four questions from this section in 
about 250 words each. 	 4x10=40 

5. Give critical evaluation of New Industrial Policy, 
1991. 

6. Discuss the problem of Federal Finance in India. 

7. Define unemployment. Discuss the causes of 
unemployment in India. 

8. Make a critical assessment of Health Policy in 
India. 

9. Discuss the factors responsible for current global 
economic crisis. 

10. What are the causes of rise and continuation of 
'black economy' in the Indian Economy ? 

11. Define Inflation. What are the causes of 
inflation ? Suggest measures to control inflation. 
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SECTION - C 

(Short Answer questions) 

Answer both the questions from this section, as 
directed. 

12. Distinguish between any two of the following : 

(a) Free trade and Protection 	 2x5=10 

(b) Monetary Policy and Fiscal Policy 

(c) Economic Growth and Economic 
Development 

13. Write short notes on any two of the following : 

(a) Human Development Index 	 2x5=10 

(b) World Trade Organisation 

(c) Fiscal Deficit 

BECE-002 	 3 



4.7114.-002 

k--ilich zmiu chitigtoi 

thin Lair 
‘"ff, 2016 

*.t.*.t.-002 : 4117917 altaffRit WF ractott : -iik K4 

71174 

%Wig : 3  Ete 	 3ifw-d-4 3.7 : 100 

-6' : 	Fitft <1614 	1 quvii( siql .  *. ant ZI/ 

(t4371- 1179. ) 

f*-* i t 4k-I . "k dlit fOt.  I -574W drR 77117 

500 7.1- 1 4 c11w1LI 	 2x20=40 

1. -11-4-mff A-14eqi 1 	 kiliir 	ITR-u* ai-rfft 1-40u 

0 mfr ..tA * ` ii drikvil t? %,-TR-u -1-  A-R.ks,11 

TTI:FFTT139-F4* fm,  317T Uft .1-K-iivir 4116 wrcill ? 

2. ITIltzt TN 4 fff9 driircli * w chitui f? 
64qi 	* fi,R alTtr WIT dLilei IpTc4 ? 

3. '44 1951 "4 7 t "NtqT otwilt 4 377 trirq-49 vitz 
.-1 I WfT if 3ittardP-T1 .14 	f-*711-  tittl-lIciich 4 o 1 

'1"3-1)7Ttka-WT*Tt -t? 
4. kci ciA.1 t "grit AT q 	tii wr 1-44-4-i -0I 

BECE-002 	 4 
	

P.T.O. 



( Tram zwl- vvq) 

7:1 tg.s ftt Wif mq-11 	ffftti I 	drit 

71TIFT 250 qttl c1R=R I 	 4x10=40 

5. Ti atleTW 	ro-1991 3RTFY -14T 	WI I 

6. ITR7 it *17 f 	a rl T:ErT3f t radmpit '01 

7. i.l\Tiquil Wt. ? IITTU 14 	 

8. I-77 14 gar 	4l 	cf 	31T- 7-0:1W 	I 

9. ac TR 	aTti 	*   TT-4 
11 .0 I 

10. 9ii c if 3T 2ic 	14 chic4 	-IT 	dqg 

7:rk 7.4 	ctRui 

11. IpT Tchrff 	trftiTrErrOi 	chRuit? Imbru 

f-174-17* d41q 13firq I 

BECE-002 
	

5 	 P.T.O. 



• 4.05 -TT 

(7Es WA' 749. ) 

7r (.4s * ql-il if dricrml 1 

12. ftt71 .44qTcrEz .0: 

(a) 1jWf 041141t 3 NrclkUoT 

(b) "girgW 3 tkrict,141q 91fdtri 

(c) aTrfik-  74-1-t a* 3Trfft fair 

13. fah- . t IT{ Tifkirff d 1-4 u1 411 titt : 

(a) +i1-Id fq*17:1 17W 

(b) tqq.  oqltilt 44 1d-1 

(c) thrleb q q NIdl 

2x5=10 

2x5=10 

BECE-002 
	

6 


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

